Rational Numbers
Ex 1E
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Let the number be x.
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Let the number be x. .
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Let the number be x.
Now,

Sxof e
S x=x
#x:%
=>x= g5
=>:l:=2—5";'I
=x=5%
#x—%

Q7.

Answer :

Let the number be x.
Now,
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Let the number be x.
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(Reciprocal of %)
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Answer:

(i) No, rational numbers are not closed under division in general

% = po; it is not a rational number.

(i) No
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Also,

c.a_c, b _ a. € yc.
55~ %a @ Thus, 3+ 377
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Therefore, division is not commutative.

(iiil) No, rational numbers are not associative under division.
a.lL-.c a.c)-£
3'(&'})%(15‘:1)‘}'

(iv) Mo, we cannot divide 1 by 0. The answer will beoo, which is not defined.





